
Frames and Hardware



Frames and Hardware
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
8881071541-NL

A
NLA - Frame, Side with Bearings, Sling Seat, Color
- Right

1 11 A,B
8881071542-NL

A
NLA - Frame, Side with Bearings, Sling Seat, Color
- Left

1 11 A,B
8881074147-NL

A
NLA - Frame, Side with Bearings, Captain Seat,
Color - Right

1 11 A,C
8881074148-NL

A
NLA - Frame, Side with Bearings, Captain Seat,
Color - Left

1 11 A,C
1081016-NLA NLA - Side Frame Assembly, Captain Seat - Right 1 11 C,E
1081017-NLA NLA - Side Frame Assembly, Captain Seat - Left 1 11 C,E

1090768 Kit, Lock Handle w/Rivets (Pair) 2 12
47471X074 Spring, Arm Lock 1 13

1028594 Pin, Arm Lock, Black 1 14
40117X006 Bearing (5/8") 1 25

1029501 Plug Button, Black (1") 1 16
1085124-NLA NLA - Screw, Socket Flat Head (#10-32 x 1-3/4") 1 27 D

1007541 Clamp, Seat 1 28
7930304-NLA NLA - Screw, Socket Head (1/4-20 x 1-1/4") 25 19
1060099-NLA NLA - Hanger, Front Rigging, Black - Right 1 110
1060100-NLA NLA - Hanger, Front Rigging, Black - Left 1 110

1027097 Plug Button, Black (3/4") 1 111
1025731 Locknut (#10-32) 1 212
7930333 Locknut (1/4-20) 25 113
1068039 Pin, Pull  1 114 D

1085134-NLA NLA - Screw, Socket Flat Head (#10-32 x 1-5/8") 1 115
1079192-NLA NLA - Base Frame with Bearings 1 116 A,B,F

1021344 Screw, Socket Head (5/16-18 x 1-1/2") 1 417
0225100-NLA NLA - Bumper, Tilt 1 218

1026158 Locknut (5/16-18) 1 419
1098615-NLA NLA - Bracket, Link w/ Caution Decal, Black 1 120

1035900 Decal, Transportation 1 121
60106X013-NLA NLA - Plate, Name, Patent Numbers 1 122

A - Decals not included with frames.  See page titled, "Packaging, Literature and Decals."  
B - Specify frame color when ordering.  See page titled, "Frame Finishes, Touch-Up Paint and Upholstery Options."  
C - Captain seat side frames come in 24P wet black only.  
D - Screws changed 9/16/99 and serve as a direct replacement for chairs manufactured before 9/16/99.  
E - Captain Seat Side Frames with serial numbers 98F39748 - 98F39877 must use #1081016 and/or #1081017.  
F - Weight Shifting Tilt.   

NOTE:  Sling seats with shrouds and Weight Shift Tilt seat frame with shrouds come in 24P wet black only.  

NOTE:

 


